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t’ @vrdd21 [ ] (Q_), Create New Repl (o] O Import From GitHub

+ New repl
shCrowdedProgram

Home hey @vrdd21, lets get started!

looks like you primarily code in
¢ Python pear on your profile

: 8 ivate repls
what other languages are you interested in?

Node.js

Node.js => Java

C Ci+

L Scheme

! C++

Ruby
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#include <stdio.h> int get_checkEqual_add_subtract(int x, inty,
int *ret_add, int *ret_subtract)
int get_checkEqual_add_subtract(int x, int Yy, {
int *ret_add, int *ret_subtract); if(x ==y)
return 1;
int main() else {
{ *ret_add = x+y;
int a=0,b=0,c=0; *ret_subtract = x-y;
return O;
printf("2 71 &) =2 = JHAeA L") }
scanf("%d%d", &a, &b); }

¢ = get_checkEqual_add_subtract(a,b,&a,&b);
Al 3 I
o (% A3} ]

printf(" 2 A o M)

else { ~/week8$ ./ex8-1
printf(" 5141 : %d¥n", a); 2718 =AE JEskA 835
printf(" ™ A : %d#Wn", b); S48
} A 2
~/week8$% ./ex8-1
return O; 2 M9 =AE YEsAI R 33
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inta=0,b=0,c=0;
* JE H AR AGS Y AT a b E AAdSkaL,
W a b BU R Blw Ay AFLS 98 M c 2 At

c = get_checkEqual_add_subtract(a,b,&a,&b);

o o Y= F 4719 AR F A5 2 7= call-by-value,
L} 2] = call-by-reference = H 71t} .

int get_checkEqual_add_subtract(int x, int y, int *ret_add, int *ret_subtract)

* get_checkEqual_add_subtract() 3+ Ul ¥ x, y, ret_add, ret_subtract ol =

ol-gj 2] ko] SFH L}

M= x <-main() 4= W ¥
1_.—/|: y <- main() 613]‘%1 qll %
H <= ret_add <- main() &5 W
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if(x ==y)

return 1;
else {

*ret_add = x+

Y

*ret_subtract = x-y;

return O;

}

e Olx}E Hole & 72 M= vl wsle] o™ 1S return
- U= 93 A ret_add, W A ret_subtract ol &35}l 0 S return 3T} .
¢ = get_checkEqual_add_subtract(a,b,&a,&b);

if(c)

printf(" &= AR H T Wn');

else {

printf(" T4 : %dWn", a);
printf(" "2 Al : %dWn", b);

H = a 9} get_checkEqual...() 2] ¥ <= ret_add 2] =47}
£ =93 B get_checkEqual...() 3= ol A W74 3k FLo)
B &= w}xk7EA] o] o}



~/week8$ ./ex8-2
1313294142
1422934113 // F L2424
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o= ZUHE Ha ZQHE * 7t & €5 8% A7[AH Q] ValueS Bretotht

* 7t otLt &5 8% ARO| ZtE[7]= 9I valueE HtetotLt,

* It =0 &5 8% A0l 7tE|7|= BTt Zte|7|= B2l valueE BH2HOICL.
?12| WEO| Bh=&|= FZ=0]C},

#include <stdic.h>
int main{void) &d pt §

ur
L

int num = 3; dptl’

int * ptr = &num;

int ** dptr = &ptr; *d ptr

printf("=========== address ==========="); o
dptr

printf({"pointers who point value of num'n"};
printf{"%d ¥d %d'n", num, *ptr, **dptr);

printf(“pointers who point value of ptrin");
printf({"%p ¥p'n", ptr, *dptr);

printf{"pointer who points value of dptrin");
printf{"%p'\n", dptr);

return @;
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I ZQIE{2Q| ZQIE{S MOF St=71?

#include <stdio.

pr
printf(

void call_by_refer(int **ref)

*ref = &global_val;

print

return 8;
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off ZQIE{2| ZQIE{S MOf o5t=71?

value

&value
*value
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ZOIHO| 718 &7

off ZQIE{2| ZQIE{S MOf o5t=71?

Call by value

Address Value

T ——

74

Oxcc

Unchanged! *value

—

_oee )

Oxaa 10

before : *wvalue=10, *refer=10
Lfter call by value : *walue=10, *refer=10
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B Call by reference
ZOIE 2| 7iE &7

void call_by_refer{int **ref)

o E=QIE{o| ZOIE{E MO} 5f=7}2 ., *ref = &global val;

call by refer{(&value);

Address Value

7.

Oxcc

&value -> Oxbb Oxaa
__ e

Oxaa

value

before : *wvalue=10, *refer=10
Lfter call by value : *walue=10, *refer=10
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off ZQIE{2| ZQIE{S MOf o5t=71?

&global wval;

Address Value

Oxcc

value

&value

before : *wvalue=10, *refer=10
Lfter call by value : *walue=10, *refer=10






< AlsistH >

~/week8$% ./hw8-1
Input string : toot
toot is a symmetrical word
~/week8$% ./hw8-1
input string : hello

hello is not a symmetrical word
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